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KN/m3 KN/m?2 kN/m2 deg
Lm 14 5 21,000 0.45 100 15
Mg 18 49 39,000 0.30 25 35
Ks 19 50 140,000 0.30 100 42
Ks x 2800
Ks
(KN/mm2) (cm2) (cm4)
RC t=650 39 6,500 1.83E+06
n =0.8
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13.4 20 6 075 H/B
20.0 x 1.5 26.9 x 2.0 30.7
180 250 280
35 599 654 679
154 2.03 224
140 180 200
5.0 564 589 603
127 152 1.66
100 150 190
6.0 529 561 592
1.00 132 159
H/B 0.79 075 0.70
100 100 300
529 501 643
1.00 0.96 2.26
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O @ Tong 19 50 283,000 0.30 25 42
Tons 19 50 420,000 0.30 100 42
Hic 19 50 100,000 0.30 400 10
His His 19 50 210,000 0.30 100 42
kN/mm2 2 cmé
RC t=650 39 6,500 1.83E+06
RC t=250 39 2,500 1.04E+05
RC t=550 39 5,500 1.11E+06
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15 n =0.8
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OO A 18 1 6,000 0.45 30 0
Tg 19 44 50,000 0.30 25 36
. His 19 50 210,000 0.30 100 42
Kic Kic 19 50 350,000 0.30 1100 0
kN/mm2 cm2 cm4
RC t=650 39 6,500 1.83E+06
RC t=250 39 2,500 1.04E+05
NATM o ck=30N/mm?2 t=600 5.2 6,000 1.80E+10
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